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Univariate Test Review

1. In a certain large school district, the se t of all standardized mathematics scores is normally disturbed with mean

% = 500 and standard deviation s = 100.
Make a sketch of the distribution showing the scores at each

percents of the scores at each standard deviation T !
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b. Find the percent of scores that are less than 300 7.00

259,

c. Greater than 700

a. standard deviation. Also show the

A.97.

d. Between 400 and 600
LD %

e. Lessthan 800 |~ BN
19.85 7.

f.  What scores fall within the middle 99.7%
200 — o0
g. What percentile does a score of 300 fall?

v 359.

2. The reaction times of all people in a psychology experiment were normally distributed with a mean of Xl

seconds, and a standard deviation of s = 0.5 sec.
a. Find the percent of reaction times that are
i. Lessthan 0.8 seconds

% ’%70
ii. Greater than 2.7 seconds

8.0,

iii. Between 1.6 seconds and 3.4 seconds

y 19007

b. Find the reaction time at 69.15 percentile

7.9 Sev

c. Find the reaction time at 13.57 percentile
| 49 secr
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